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ENGLISH F. M. - 15

1. Read the passage and answer the following questions given below :

A gentlemen very often forgot important matters. Once he arranged to give a dinner on his
birthday to large number of friends and relatives. The appointment day came and a very good
dinner was ready to be served, but the guests did not come. Half an hour passed, but still the
guests were absent and the gentleman felt very uneasy. When the delay had grown to an hour
and not a man had come, the gentleman became hopeless for all the things were going to be
spoiled. Giving up all hopes he returned to his own room. He changed to pull a drawer of his
writing table. There he found the whole bundle of invitation cards which he had forgotten to
send out.

A. Answer the following questions : 1x4=4

(iv) Why did the gentleman become hopeless?
Ans.

(v) Why did not the guests come to dinner?
Ans.

(vi) Where did he find the invitation cards?
Ans.

(vil) Give a title to the story.
Ans.

B. Find out from the above passage the word which means : Ix1=1

(i) Not present

Grammar
2. Fill in the blanks with correct form of verbs in the brackets : Yax2=1
(i) Har (study) at 9 p.m. yesterday.
(1) Mother (make) muffins for me now.
3. Change the Voice : 1x1=1

(i) She sings a song.
Ans.
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4. Do as directed : ' 1x3=3

(i) He says, “I am not well.” (Change into indirect speech)
Ans.

(iv) They do not help us. (Make it Past Continuous)
Ans.

(v) We shall do it carefully. (Make it present perfect Tense)

Anms.

5. Fill in the blanks with appropriate articles and prepositions : Yax2=1

Akbar belonged Mughal dynasty.
6. Translate into English : _ ix1=1

() nf IR A IR Rere e P
Ans.
WRITING SKILL

7. Write a paragraph on ‘Man and Tree’ : 3

Points : Use of trees—man’s best friend—what we get from tree—we should stop deforesation—
planting more trees—save trees.

Ans.
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LIFE SCIENCE (8)

1. Fefie ersffers Apfaice Teamis ¢ 1x2=2
() ey SRETTH o1 T PG TN 2
2

(ii) SPM-a3 ={7al /% =7 |
T3

2. PR ehifers scFeg e wie s 2x3=6

(i) IR W ITE g FER G 7T =3 @2
s

(i) TEARTE AP =g I (FA?
©

(iif) SRTIDTT 7% T TR
©:



MQUOTA-2621/ VIIL / Set-2 /8

PHYSICAL SCIENCE (7)
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